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wspotczynnik filtracji

wg wzoru USBSC
k=3,4 m/d
k=3,9*10"° m/s

wg wzoru Seelheima
k=10,0 m/d
k=1,2*10" m/s

wskaznik
réznoziarnistosci
gruntu

Cu=2,00

wspotczynnik filtracji

wg wzoru Hazena
k=46,2 m/d
k=5,4*10* m/s

wg wzoru USBSC
k=47,1 m/d
k=5,4*10" m/s

wg wzoru Seelheima
k=212,5 m/d
k=2,5*10" m/s

wskaznik
réznoziarnistosci
gruntu

Cu=4,41

wspotczynnik filtracji

wg wzoru Hazena
k=18,0 m/d
k=2,1*10* m/s

wg wzoru USBSC
k=8,6 m/d
k=9,9*10"° m/s

wg wzoru Seelheima
k=35,7 m/d
k=4,1*10" m/s

wskaznik
réznoziarnistosci
gruntu

Cu=2,53

Zatacznik 7.1



